Name and address of the agency		

CI	Portion	Work/Product/Service Required	Size			Quantity		
Sl. No.	in the plan		Length (Ft.)	Widhth (Ft.)	Area (Sq. Ft.)	No.	No. of Days	Total Price required
1	A	Hanger (Non AC) with raised Jacky Platform, carpet and required fans & lights in the verandah.	100	40	4000	1	4	
2	A	Stalls with one light, one fan, one 5 Amp. Plug, one table and two chairs	10	10	100	20	4	
3	D	Hanger (Non AC) with raised Jacky Platform, carpet and required fans and lights in the verandah.	100	40	4000	1	4	
4	В	Stalls with one light, one fan, one 5 Amp. Plug, one table and two chairs	10	10	100	20	4	
5		German Structure with raised Jacky Platform, carpet and AC & lights provided.	100	40	4000	1	4	
6	С	Stage with raised Jacky Platform, AC, lights, Podium, tables, chairs and sound system (JBL/Montarbo) provided.	40	20	800	1	4	

Sl.	Portion			Size		Qu	antity	
No.	in the plan	Work/Product/Service Required	Length (Ft.)	Widhth (Ft.)	Area (Sq. Ft.)	No.	No. of Days	Total Price required
7		Audience Chairs				350	4	
8		German Structure with raised Jacky Platform, carpet and AC & lights provided.	50	40	2000	1	4	
9	D	Stage with raised Jacky Platform, AC, lights, Podium, tables, chairs and sound system (JBL/Montarbo) provided.	24	16	384	1	4	
10		Audience Chairs				160	4	
11		German Structure with raised Jacky Platform, carpet and AC & lights provided.	50	40	2000	1	4	
12	Е	Stage with raised Jacky Platform, AC, lights, Podium, tables, chairs and sound system (JBL/Montarbo) provided.	24	16	384	1	4	
13		Audience Chairs				160	4	
14		Arabian Tent with raised Jacky Platform, AC and lights provided.	20	20	400	4	4	
15	F	Tables (Frilled) - round				5	4	
16		Chairs Banquet				30	4	
17		Arabian Tent (Non AC) with raised Jacky Platform, lights, fans and coolers provided.	40	20	800	1	4	
18	G	Tables (Frilled) - round				10	4	
19		Chairs Banquet				60	4	

Sl.	Portion	e Work/Product/Service Required	Size			Quantity		
No.	in the plan		Length (Ft.)	Widhth (Ft.)	Area (Sq. Ft.)	No.	No. of Days	Total Price required
20		Arabian Tent (Non AC) with raised Jacky Platform, lights, fans and coolers provided.	80	30	2400	1	4	
21	$_{ m H}$	Tables (Frilled)				100	4	
22		Chairs				200	4	
23		15 Amps socket (to drive a grinder)				2	4	
24	T	Pantal (Non AC) with raised Jacky Platform, carpet, required fans and lights in the verandah.	40	20	800	1	4	
25	I	Stalls with one light, one fan, one 5 Amp. Plug, one table and two chairs	10	10	100	4	4	
26	Tagore	LED Wall	30	10	300	1	4	
27	С	LED Wall	12	10	120	1	4	
28	Outside	LED Wall	10	10	100	1	4	
29	D, E	65 inch TV			2	4		
30		Generator with diesel to drive all electrical devices			1	4		
31		Supply water with stand and tank	5000 litres			4		
32		Cleaning staff for cleaning all venues and Washrooms at Tagore Theatre, to clean once in every hour	Per head charges				4	
33		Wash basin				25	4	

GI.	Portion			Size		Quantity		
Sl. No.	in the plan	Work/Product/Service Required	Length (Ft.)	Widhth (Ft.)	Area (Sq. Ft.)	No.	No. of Days	Total Price required
34	Tagore	Flower Arrangement		42 Ft		1	4	
35	С	Flower Arrangement		40 Ft.		1	4	
36	D,E	Flower Arrangement		24 Ft.		2	4	
37	Tagore	Inauguration Settings - lamp, accessories for lighting lamp and associated things, sound system (JBL/Montarbo), VIP Chairs - 20, Glass teapot - 4, face light - 16, podium -1				1	1	
38	Tagore	Carpet	40	32	1280	1	4	
39	Tagore	Raised Jackey platform	32	4	128	1	4	
40	Outside	Raised Jackey platform	12	4	48	1	4	
41	С	Raised Jackey platform	12	4	48	1	4	
42	Tagore	Frilled table	4	2	8	30	4	
43	Tagore	Chairs with cover				100	4	
44		Sign boards	6	3	18	20	4	
45		Box Arch with cloth and decoration in the main entrance	30	14	420	2	4	
46		Arch in front of Tagore Theatre	12	10	120	1	4	
47		Ach for each venue	8	8	64	5	4	

CI	Portion	on	Size			Qu	antity	
SI. No.	in the plan	Work/Product/Service Required	Length (Ft.)	Widhth (Ft.)	Area (Sq. Ft.)	No.	No. of Days	Total Price required
48 Illumination, general light, outside sound system in the whole premises of the Tagore Theatre with all associated charges						4		
	Total cost in Rupees							

Total cost comes to an amount of Rupees	<u> </u>	
·		

Declarations:

- 1. Price quoted for each item includes tax and every other cost and is quoted for the shown quantity for the number of days shown.
- 2. We shall complete the required works before 10-08-2023.

Dated Signature and Name of the bidder

(Seal)